
             solutions parties 61et 62

AGÉRATE H 3 70 SECONDO H 2 76
TUVALAIS  3C 76 MORICAUD  7A 64

QADDI(C)H  2 I 103 (S)URCHOIX E 4 134
CHICOUTÉ O 1 212 ARIENNE I  4 83
UROPYGE I  9 83 TONKINOIS  8G 109

ZI(G)OTEAU 15D 128 GRÉMIAL D 9 86
MOSELLE G 5 74 PLAYMATE A 3 113
NÉGATIVE 14G 88 JUM(P)INGS O 1 98
TOUBIEN N 5 75 ESPRESSO  2B 74

SAIGNEUX  4E 116 SIEVERTS  3F 103
BANDEROLE 11C 98 HALIEUTE K 5 94
ENTREFER C 1 62 DÉDALÉEN 12F 74
AMÉLIORE  1A 140 AUBETTE B 9 78

61 1325 AFFABULE 14D 76
62 1262


